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3[ 3] 71035 H
41 5] 312HB A
5[ 6] 258%T
60 7] 42872
70 1] 902t &

[ 8] 8557 A<
[51#8) (  +2.2 m)

10 6] 1T R ZER2 OllA EFAH 5 ) 12.
20 4149237 M m —3Cs #Hl THT)13.
3[ 1145407 38 I3 312 (5 BF 3K F15 ) 13.
41 21264205 W0 i P93 (SO E AP 5 ) 13.
L2Cs M RT3,
PR3 (1 A= 5 1) 13.
71 3]1485Ha A 52 R3 (KA 1 5 %) 13.
- VAC I LR R KT

5[ 5]49307% JII
5[ 7] 1524F L

8 [ 8]4051ff] A

(53#8] (  -0.6 m)

1[ 4] 8287 & [EFH2(Th%y AACH £)13.
2[ 2] 814301l ZEH2 (Fh%y AACH£)13.
3[ 814144 R EHi#k2 (K4 O 5 $)13.
40 111929/ A B2 (B [ K Hki £) 13.
5[ 5] 1518 M FEH3 (Il A 4% %) 14.
60 7] 2275 M 19223 (JI| QBT g5 ) 14,
Z22 I 0 E R %) 14,
8[ 6] 380 K I ik2 (Bl &% = " £)14.

7[ 312243 A&

(55#] ( +2.5 m)

106] 21907 MK2(% 17 HHE)13.
Hrfi £) 13.
3[ 4114098 A BE 2 CR 4% 1 £ E)13.
4[ 3] 5031~ R JH2 AP HT)13.
5[ 6] 446 #H JE £3 (L 1T W T HE)13.
60 2] 1175 fR A4S St 22 (Il 0 EF AT 5 £)13.
TL 7]4535P8 #F 52 (5B 5 %) 13.

2[ 8] 190én A Athe(Z2 F

(57#8] (
10 4111708F

+1.8 m)

6[ 7]1485% H

B 20 7 v )12,
KF2 (B A P45 5)13.
MFES (R4 1 )13,
41 37134275 (1 HAER2 (7207 1L 77885 %) 13.
5[ 2] 43314 F % E3(JIREZRH % E)13.
227 I6F & =F2 (1 O vE HeE E) 13,
70 811205F )1l # H2(& 1T 4 E)13.
8[ 711203/NAK H 2 (%2 1T R E)13.

A B2 (Il EFAT 5 E)13.
2[ 6] 238\ K s z2 (Il B hET -5 £) 13.
3L 3] 218J ke ACPI2 (WIERAE i H 1) 13.
40 8] MT/MAR gRRER2 (Bt — H&E)13.
50 2] 2617k =R (FIERE —rh 5 %) 14
w2 (W o 43 s %) 14,
70 5] 489/#x BEZL2 (RS & i £) 14,

86
10
12
14
20
20
36
51

13
95
11
33
36
39
49

16
08
29
41
41
41
43
47

38
68
68
15
09
11
24
31

52
53
61
63
87
90
96

25
67
15
16
31
35
53

(48%#8) (  +0.5 m)

1[0 3] 490587 & Wl K2 (M - 45 5 £)12. 61
2[ 71148155 4) B2 08 » & H 5 ) 12. 94
3[ 5] 250454k BEEE3 (I N Z A % £)12. 95
41 2] 4271%& 7k FFHE3 UNOFER P 5 £)13.13
5[ 8J2635F8 H # K3 (SVzAkf5E)13. 14

60 4] 33%p EXER201 1 75 F-8E)13.17
7011 1939k &2k 7 H4%)13.23
8 6] bBI#H AR Fi{i2 U\EIAFEF#E)13. 60
[504] (  +0.1 m)

10 5] 501 H @B E2 CEMEARTHE)12. 94
20 4] 213 E HRE2(& 17 HH%E)13.10

3[ 8]4901 1% HLIR3CH Ml T#E)13.29
40 114915/ 5 e &li3 G Ml F#%%)13.35
5[ 3]4536 5 uH 1% B2 (5 B s 4 £)13. 44
6 7] 422/mp% CHE2 I OEZ T 4 £)13. 66
70 2149074 M FE 3 CE i 8 %)13.78
8[ 6]4527HL H#: 5 A2 (5 %5 3 185 %) 13. 81
[5248)] ( +1.6 m)

10 6150842 - RE2 O\ ¥/ &5 E)13. 14
20 4] 123 &K A2CGE B # T4 %) 13. 23
3[ 31453718 B BE A2 (5 B B #£)13.54
4 511484 KFnmH Hii/h2 (Mg » 4 8 £)13. 64
5[ 11140245 i 1H ¥E2 (K4 0 F1 % %) 13. 66
6 2149160538 15 &3CH M H#%)13.68
7[ 8149064 A —®3CH M H#%)13.80

[ 7] 1128 28 W2( — HRE) RIS
[(54#8]) ( 0.1 m)

10 6] M75ER a3 Gir . F#%%)13.40
20 4] 16fHE 72FB20% — T%%)13.40
3[ 201177/ E T K2 (0 EFE AT 5 %) 13. 56
41 3145213 (I EAG2 (5 2 31 4 £)13. 78
50 5] 8217 N £t BEvAI-XHF)14.22
6 814932/1\BrF =2 CE MW H#E)14. 64
[ 1111427 & SR2 Ol n 3l 5 F) KI5
[ 7145233 W =2 (5 B 3 5 F) Ri5
[5648]) ( +1.5 m)

1[ 4] 50440 A2 EWELRTHE)13. 89
2[ 6] 144fh& < L2CH EE P E)14.22
3[ 2111782888 B2 (Ilp EHEART % E)14. 23
4 7] 8321 L1 GFh¥yAACHE)14.32
5[ 51140541 )11 EH2 (kKA O %) 14.33
6[ 8] 4383 1L & 8L2 (I AFEZR T E) 14. b4
70 3] 1M ERE Bm2Gi — %) 14.58
[58#8]) ( +1.5 m)

10 6] 12322 )11 # K20k — H4%)13.43
20 8] 131\ v #E K20k — H#%)14.08
3L 4] KR A N OHFRE 75 E) 14. 26
A[ 5] 27 K100 EDTE E) 14. 43
5[ 3]2965WN j#  sE2 (KW + H#£)14.54
6 7] 12411105 #5FH2 Gt — P %E)14.79
70 2] 1334 1EHE20% — HE)15. 74



[5948) (  +1.4 m)

10 7] 505 =1 Z£K2(CEHESHt5%E)13.94
20 5] 11028 M BRUE2 (% — %) 14.02
3[ 6] 1187k BER2(Fk — T8 E)14.65
4 8] 195 I Fitho(Z 7= H#%)14.74
5[ 3114105 [# f A2 (k4 1 H#%)15.00
6 2] 441 KA1 Gh B2 (47 | % £)15. 17
[ 4] 15994 b o2 Ol =t 5 ) K15
[61#8] ( +1.4 m)

1[ 415135 — 2 (Il 0 Hem 5 £)12. 25
2[ 5] 45871 J0 = 22 (FriRya b 5 £) 13. 09
3[ 6] 452FFiR  FHEES (Frikia i 4% £)13. 18
410 1] NM3F/A E30H & 4513, 23
5[ 3] 4667k B IE A3 (AR b+ 5 %) 13. 69
6 [ 814927k S AER2 Ca Ml J%$)13.99
[ 2] 400485 B K3 (Il 0 FHEF 8 F) Ri5
[ 7] 4515 MW &2 (Frikim s % £) Ri5

BF 200m RES(26%8)
[1£48] ( +2.0 m)
10 3]21939 Ay # K4 CGE £ K-£i)21. 05
2[ 6]1166~71 7 V3@l v K4k 21.35
3L 412197TFE A KBS ¥ K-Ehk)21. 69
A7 8]10904E & i 54 (3 £ K#%)21.70
5[0 112201 fR¥0 ZFIKER3 (B ¥ Ketid) 21. 72
6L 2] 26/ H Ff1 (ASAPHE21.78
70 5] 183k 4f Bk oK4 (R K fd)21. 99
81 712194)5)11 ¥ KEA4 G £ Kelin)22.22
[3#48) ¢ -0.1 m)
10 7] 317 K% WS (UNITE 4 %)22.06
20 5151019 it 4F20k V8 KER)22.10
3[ 4] 486 Kk H  #E3(L KEE)22. 44
41 8]2204k5 H Z R3(GK ¥E K-Uf)22.49
50 3] 113142 2 K #4GK 1 KK 22. 76
6[ 11510980 FE KBER2 (5 76 K-E%4)23.05
[ 211407 B KRAE4GR W6 KR RIG
[ 6]5610EH KE20GE I KL XI5
[548] ( +1.6 m)
1[0 41277448 = A 183 (M) & 5 K5 £)22.19
2[ 6] 1161 1% EHB3Gk b K#)22. 47
3[ 511324 M Y40k 76 K-T3)22.59
41 8]11357% il =4k vH K-T#)22. 67
50 1] 784/~ MEIE M &HE)22.72
6[ 71315447 % ¥ A3 (I B dk & E) 23. 04
[ 211027 % W FE &3 (5 i) Rig
[ 3] 1167 |ER] B3k v K4 %) R

[60#8)] ( +1.9 m)

10 2]5131858E &3 (InHEMEE %) 12.30
20 41 2173k 22 (2 47 T45E)14.49
3[ 81149185 K HEF3 (R 1 4 %)14.79
4[ 5] 218 R ¥if2 (% 17 T45%)14.89
5[ 6]12067 & HE W2 (&2 17 H#%£)14.94

60 7] 442:8 22 (ZAT %) 14. 98
70 3] 321\ &=20!0 b g H-#%£)15.02
4 O
e 3

1 2KA w1 &
2 1% B—M1CR P
3109048 & %4 By £
A 1143 7EHT FREOK4 (R v
551017 JiU  fH2 (B 78

(248 ( +1.7 m)

10 71509345 A R 4 G 6 K#5E)21.43
2[ 81114674 E Ha4 0 #H K-K4)21.60
3[ 5111334t #  #a Gk v KKH)21. 61
41 4150971 CFFR20K 0 KHE)21.70
5[0 2]1441B{E HE 3} (UNITE#%)22 07
6[ 6] 300=H = (UNITE®%)22 4
T 311148401 BEREE (Acce lT#)22 44
8[ 1] 301#H R FfnA (UNITE#%)22. 71

[4%8] ( +0.1 m)

103] 203&FH &5 (J AW S#%)22. 47
2[ 51183022/ 52 A2 (R #% K-E4)22.48
3[ 2]1406 N ik A4 (R 5% KBkH) 22. 65
40 6] 782 LW BEE3I(E M mHE) 2284
[ 1] 262/)vl % A2 CGRUERLK 5 £) K1
[ 4] 433%F 1 fn%e (ADLER#%E) X5
[ 7111254 76 HeK40m W KEH XRIG
[ 813578 A ¥ #513 (5 N/ & 45 E) Ri5
[6£8] ( +1.5 m)

107113/ B 3@ B &4 5)22.75
20 4] 998 %7 i Kk (EBiferACtHiE)22.76
3[ 8117285 M A2 M EmHE)22.79
A[ 2]28527% 31 HE2 CRAELRE#F)23. 07
50 111211 & #E3 (I pisiE %) 23.19
6 3] 21%&)Il E£EH (+5 S C#HK)23.51
70 6]3079% W fd& (5 T e %) 24. 26
[ 511467 H G & 33 (il i 4 £) Ri5

K F0i) 10. 43 +2.
K4EE)10.54 +2.
K E)10. 63 +2.
K4 S)10.70 +1,
KEIE)10. 73 +1.
6 33FLH HZ (ROOTS HK)10.75 +2.
6 30884 H K4 CRAEEERIR T#)10.75 +1.
81127 K1 #E A4 Gk 7 KHiA)10.77 +1.

~N N O B~ DO OOoO



[7#8] ( +1.4 m)

10 6]2772Fn 1 223 (4 3£ 5% K#5£)21. 88
2[ 8]1222/NH & K2 (Il 0 i SLE H %) 22. 85
3[ 4] 263 At E3 GRATFAL K -ZH) 23. 27
4[ 515207 K sz ke E K#%)23.39
50 71104011 H BEZIr2 (K i ) 23. 60
6[ 311831 % & 5L2CR #& K-z 23.80
[ 11108677 KX2(k B &85 RIS
[ 2145452 S 72 R3 (= X &HE KRG
[9#] (  +2.6 m)

10 612776 4 Z& b3 (1 3= %% K#5%)22. 86
2[ 7] 5% KL (HAMACHE)23.13
3[ 115435/ % w2 (A EALkm 5 %) 23. 73
47 8]10474 1 #ii (A. 1. R#%)23.80
5[ 2]5445 KK g 2F2 (A EALW = i %) 23. 80
[ 3159214 A& & EH2(EH & KA KRG
[ 4]J1725%8 7 RKY2@R ™ &% 5 RIS
[ 51726 iR B2 (R M &% 5 RiG
[1148] ( 0.2 m)

106] 248pE ot R A FE R 24.02
2[ 4] 9018 - Z= 3 (FHHEF 4 F)24. 04
30511210k A ze3(IATisiE %) 24.18
40 11324710 & &3 (B ARk 4 ) 24. 33
5[ 81405311 T  #2(Hfnbim % %) 24. 39
6[ 2] d420hiey (=] GHrE~Ay—A-Hx)24. 81
[ 312037 A WS th2 (A ¥ K [R5 £) Ri5
[ 7] 299% 4] K (UNITE %) X5
[1348) (  +1.3 m)

10 1]2126 08 75 —2 (il Fn B9 & 5 F) 23. 45
2[ 5]5072E0X7 <3 (J\ W 7 &5 %) 23. 76
3[ 6] 424 HAHICK B |mHE23.71
41 814692 &2 £ th2 (5 & A =+ ) 23. 95
5[ 4] 314 % X (UNITE#%)23.99
6[ 7] 356% #E A3GE - 4 EHE) 24,33
70 315474 = 2 {# 23 (FOLEE S 5 %) 24. 63
[ 2] 79285 M K¥E2 (& M &%E RS
[1548]) ( +1.7 m)

103] 537/ % K201l B B rp#%)23.93
2[ 115017 AHE H P2 (R SCH S 5 %) 23. 97
3L 41172988 11 K52 (R m EthE)24.21
41 21547385 K B A3 FOtEES & % E) 24. 41
5[ 61581241 Fn B3 (G [ m 5 ) 24. 42
6[ 71408085 A 4B HH3 GHfnFbim % %) 24. 49
T[ 81324210 gy 22 (B Kk £) 24. 61
8[ 5] 333K EEfh2 (B » & &%) 24. 61

[1748) (  +2.4 m)

10 2] 905%% M= E2(5 B &4%)24.00
20 1] 9038 Kyl2(5 B &EHE)24.43
3[ 4]5463E i 51 Av2 (FtE BEm 45 £) 24. 51
A[ 5] 24085 A 2 (I O AT 5 ) 24. 69
5[ 811722 4% EW2 (X M mHE) 24. 74
6[ 6] BAfhE BEZA3UI O %) 24.76
70 3] 146 55 23 (1] A =23 145 £) 25. 23
[ 7] 901 AF 223 (5 %5 &8 E) RiG

[8%8] ( +0.7 m)

10 6]12319F A+ FH K3(F #E K-T%)23.19
2[ 114293730 # A3(F # &%%)23.39
[ 712777/ BEZE3 (74 £ % K %) 23. 47
4 8] 4328 M fEA2(K &= &% E)23.53
5[ 2] 558#%2 (1 M # (MauiProject %) 24. 07
[ 3131767k k= /201l B b &8 E) K15
[ 4151128 )11 SRfE20k W K% %) RiB
[ 5]12094% H 4@ =F3 (I A& 5 E) KRB
[10%8)] ( -1.6 m)

10 4110005/~ B FH R 5 R B M) 23. 65
2[ 5] 425§ 8 £ E3I(CK = EHE)23.86
3L 2]1221 + @ K#20IRTHivZE %E)24.16
4[ 3] 519 R E3I(JI 1 T E4E) 24,29
5[0 114077 £ 4% K &3 (GHfnsebzmE & %) 24. 55
[ 6] 794+ fFdk2 (B [ &% X5
[ 711224 % —E1 (I AHEHE) RiB
[ 8]4073%% A B3 (Hfnbim ) Ri5%
[1248] (  +0.3 m)

10 5110935 1F {B52(F B &#%)23.51
20 3] 5304 &= A201l B B %) 24. 01
3[ 2]1026# #2854 K3 (ik 5 ) 24. 35
41 4] 296 £ 35t (T3 — A L) 24. 36
50 712113 =K (G-t e c Hx)24.69
6[ 8]14549%% 7k  BE3(E 4 EHE)25.15
70 1] M2=H#K BE3(IOFHT4E)25.19
[ 6]231478 /% (EF3I(T # KTH XS
[14%8)] (  +0.9 m)

102] N&7 BEAIQB—d5E)24.28
2[ 113158 K F M43 (I 1 b &8 E) 24. 48
3[ 5] 520/ P20 10 T &%%)24.76
4] 618469 M 5153 (COF K+ %)25.18
5[ 8]140567H% #ifi KHI2 GEfnbimE 4 ) 25. 31
6[ 312017 1L Sy 3 (b Wy dresis) 25. 73
[ 4140031 /% H 3 (G — W %5 X5
[ 711028 — > K i3 (% &) Ri5
[1648]) ( -0.5 m)

10411218 AT EL#R2 (Il BTN E 5 E) 24. 03
2[ 311104 44K w3 (L J& &HE)24.84
3[ 5]2536% )11 EA3(I B B g8 E)24.98
41 2] 793458 B fp2 (8 M &% E)25. 03
5[ 7] 357HMg 1% K3 (B » 4 & %) 25. 07
6 8110250 % & =3 (x i i %) 25. 32
70 1] 796%F & a2 (& M &%) 25. 87
[ 6] 514N H & A3(Il 0 T &H%E) RS
[18#8] ( -0.4 m)

1[ 5]54391F K By &2 (KEALWm 4 £) 25. 04
20 4] 614EEF FaF2 MR T 4 E)25. 25
3[ 81325948 B 1 (BB KkE % %) 25. 47
41 3] 862f 5 & — (7AV7/)kEL 778 E) 25. 51
5[0 112524 (L g A3 1l 11 B -8 %) 25. 92
6 7] 6021l HR L2 (B KA 5 £)26. 17
70 61455250 &% F2 (& % &%) 26.37
[ 2]1048%k  #F 522 (G & i) Ri5



[1948] (
1[ 614694 5 B
2[ 3110473 I
3[ 2] 241 F &=
41 111926 & 7
5[ 7] 8014 A
6[ 4] 185% JI|
7[ 5146907 &
8[ 8] 101 & 1&
[2148] (
10 41191148 R,
2[ 5119237 1y
3[ 6]
41 713253 F &
5[ 1119227k =

-0.3

-1.

m)

B2 (A E ) 24,
a2 FH2 (k B % E) 24.
KRS (I E R 5 %) 25.
M B2 (B fH] R 4 %) 25.
JEVHES (B[] &) 25.
B3tk 7 £ 25.
KHEE2 (76 & & F) 25.

& AF3 (B — H ) 26.
5 m)
M B3 (B[] K #8525,

gl 2 (B [ R o4 %) 26.

247 B 7/ (GAZELLE-TI)26.

#h 53 (B Ak 4 F) 26.
Z 12 (B [ A 4 %) 26,

60 3191274 /A PR3 (B [ A 5 ) 26.
70 8] 14942 A {523 (Il B =216 5 %) 27.

[ 2] 791 g fh2 (&

[234H]) ( -1.5 m)

10 4] 2118 RRER2 (42 17 w45 E)25.
2[ 5] 2133 %kiE2(& 17 P %)26.
3[ 811920/ B K Fk2 (B [H A 4 %) 26.
41 6] 158°%% WA A2 (Il b3t i %) 27.
5[ 7]5015& & W5 (K 3l I th 7k ) 21.
6[ 311484 KFnm MiJh2 (W8 » 43 i85 %) 27.

70 2] 1524F £ 3 (llp =il 5 %) 27.
[ 1]
(25%8] ( +2.0 m)

1[ 614026 3%
2[ 2] 12321l
3[ 3] 238/LK
40 7] 11028 MW
5[ 41147017 N

K —2 011 A 3 &5 ) 27.
FER2GBE — HETE)28.
a2 2 (I O AT 5 £ 28.
BRiE2 Bk — HsT)28.
RE2WERERTHE) 28,

6 5] 131\ v K20k — HHE)29.

10 8] 111 &4
[ 1]

B2 Bk — ) 29.

59
12
15
30
57
62
98
17

85
40
52
58
69
12
11

] & E) RiG

93
46
94
26
39
50
58

00
33
49
12
91
38
19

4> O
sy 3

1219394 & oK4 G ¥ K#d)21.05 +2.0
21166~7nm 7ov3 Gl 78 KHiA)21.35 +2.0
3509385 A UR R4 Gk VE O K EE)21.43 +1.7
4114678 = B4G W KK2)21.60 +1.7
511334k 3% 4 G v KRN0 21.61 +1.7
62197F 4 K3 GR ##  KAE)21.69 +2.0
75097 (L FFR2 B P8 K EE)21.70 +1.7
71090588 i B4 By £ K#HE)21.70 +2.0

[2048] (
10 7] 1860 i
2[ 5] 863/ f
3[ 212334K Ft
40 8] T8& 1L

6[ 3123374 JF
7[ 616307 i iy

(2248] (

20 7] 2207 5
30 411921 31
40 2] 2=
5[ 6] 3135K4&
6[ 3119254 A
70 5] 816421

-1.

0 m)

s (2 77 £ 24,
Z& Bh2 (Th7107EL) 77 55 ) 24.
5 71 (RUN. j p'fi# %) 25.
FRE S0 OO A o 131 0) 25.
5[0 4] 4345 A  E3(IATEZRH 4 E)25.
BEHE2 (RUN. | pii E) 26.
B e 2 GROCER KRR 26.
8[ 1] 2462 Misk+2 (B2 1L 74 5 %) 26.
-1.

2 m)

&2 (B B &E)25.
— 3 (I PR HT H -85 ) 26.
o2 (& [ R H6 E) 26.
B =F201 1 78 ek E) 26.
B 20 1 7 5 E) 26.
B A2 (B [ K H 4 E) 26.
B E (B E RS E) 26.

81 1119274 Ji 52 (R [l K -5 %) 27.
[24%8] ¢ +1.1  m)
1[0 2] 1880 H  WE3(2 7 h&E)27.

2[ 3] 60347 7= Fn2 (BB A R 5 E)27.
3[ 5] 16[dH 7Z2d2(Gr — H&E)27.
w2 CRA A HsE)27.
50 711929/h A B5Jr2 (B [ K -5 %) 27.
6L 6] 1615 H W3 IlA == 5 E)28.

4[ 4]1415K g

70 8] 133 P4 EE2(HR — H4%E)33.
[ 1]
[26#8) (  +0.1 m)

1[ 315135 & — ¥E2 (Il 0 & e 4 %) 25.
20 7121161 1 ploIk2 CK B /) 26.
3[ 8]21184 M fRAIS2 CK & /M H5 %) 27.
41 4] 422N HE2 QI RFEZR 45 E) 28,
5[ 2]1401m H T2 R4y 1 6 %) 28.
60 6] 1181kl BEARM2 (R — P15 %)30.
TL 5] 1241ls 5 2 Gt — 5 %) 32.

[ 1]

64
96
32
34
97
11
11
86

80
16
42
60
13
13
80
14

00
09
47
62
80
60
47

25
99
63
08
46
49
16



BF 400m £ (1640)
[148])
10 4]3082 4 M E[4&3 RURFRRL K 5% £)47. 12
2[ 7125355 &K k&2 (1 K#TF)47. 87
3L 3J2195F 1 &K &3 #H# K-#HH)48.05
4[ 6]16284% % A B4 (BE {7 & K-#iE)48. 40
50 2] 208FA R 82 (F K-Ji)48. 48
6 5]11484H L BEKES (Ac c e 1-T%#)49.09
[ 1J116278 K BEFE3 Gk 78 K-k KI5
[ 8] 1728 A FEdi4 (B FEK B ) Ri5
[3%8]
1[0 5]21273F K Hu2 G Fi BF & 5 E) 49. 18
2[ 6]2057uH B 4 (B 1 KZE)49.68
30 4] 174F K L3 (BEFE A ) 49. 71
41 17120975 B {2 =3 (Il O /i ~2 5 5 ) 50. 57
50 8] 1909 & f1F K3 (ak B K-7%H)51.03
6[ 7127662 %F A4 (i 3£ 5 K& £)52. 11
70 211138 F % A4k 76 K45%)52.99
[ 3J1MTR[ 8 k23 GR % KHE) Ri5
[54H]
10 11256200 % =3 (B & 78 & 5% %) 51. 68
2[ 8110267 #  #4 K3 (b = %) 52. 39
3[ 3130851  # A4 CRRHFE K-E)52. 47
41 6]4022F9 0 w301 A H &4 E)52. 56
50 7] 51842JE 3301 O T &4 F)52. 63
6[ 5] 42598y FEEHI(CK B & E)52.65
70 4127848 [ 7€ 553 (W) 3€ 5= K5 %) 53. 48
8[ 21255300 A 513 (B 45 75 &5 F) 54, 49

[7#8]

10 5] 25%E ) #h3F (QurEifiled 4 £)52. 09
2[ 311032)11 4 fiit K3 (i =5 %) 52. 70
3[ 7] 204FH 0 F5 4 (58 B K ) 53. 25
4 1110831 i HEFE3 (B & E)53. 47
5[ 4]5138 5K Yt —2 (i 35 % K% £)53. 65
6[ 6] T9RFF I (H nT B W 20 53. 99
70 8] 42975 i AR1E3CK & &%) 54. 06
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